69€S0d

T MVS ON 11VO04d 1034 SS31dH00



Parts List DCS369 CORDLESS RECIPROCATING SAW 1

Item Part Number Qty Part Description General Description Other Info  Repair Inst Markets
1 N719661 1 CLAMSHELL SET No QW
2 N683436 1 LED LIGHT No
3 N774470 1 MOTOR SA No QW
4 N650938 1 BUTTON LOCK-OFF No
5 N658536 1 GEARCASE No
6 330045-53 8 SCREW No
7 N773353 1 CARRIER SA No
8 N691339 7 SCREW M3 X9 No
9 N677836 1 GEAR No
10 N658540 1 PLATE THRUST No
11 N760370 4 WASHER LOCK M3 No
12 N658544 1 SLEEVE BEARING No
13 N773357 1 SHAFT SA No
14 N690767 1 PIN No
15 N688751 1 RUBBER BOOT No
16 N690774 1 SLEEVE No
17 N690789 1 SPRING No
18  N690518 1 CAM No
19  N684560 1 COLLAR No
20 N690786 1 CIRCLIP No
21 N096408 1 SPIROL PIN No
22 N658550 1 WASHER No
23 N773358 1 ECCENTRIC SA No
24 N773359 1 GEARCASE COVER SA No
25 330045-08 1 SCREW M4X25 T20 No
26  N628892 1 SHOE SA No
27  NO71836 1 ROLL PIN No
28  N453857 1 TERMINAL BLOCK No
29  N239160 1 BUMPER FOOT No
30 N239159 1 BUMPER FOOT No
31 N467560 1 PLATE No
32 682211-00 10 SCREW No
33 N719768 1 LABEL BRUSHLESS No

Page 1



Item Part Number

34
35
36
37
38
800
861
862
866
871

N719783
N719775
N719779
N086039
N042665
N017298
N614791
H1500082008
N195933
N450536

Parts List DCS369 CORDLESS RECIPROCATING SAW 1

Qty Part Description

1
1
1

1

RATING PLATE

BRAND LABEL

WARNING LABEL

HOOK

SCREW

GREASE 150 GMS

KITBOX

LATCH

BATTERY 18V -4.0AH - 72WH
CHARGER (EURO)

General Description
EURO

18V

EURO

M3 X 10
G-2008 Molykote

Li-Ion - DCB182-XJ
DCB115-QW - 4.0A

Page 2

Other Info

Repair Inst

Markets
QW
QW
QW

QW
QW



